

Math 54

C.2 (exam type prob)

(i) given system

$$\begin{aligned} y_1' &= 2y_1 + 0y_2 - 6y_3 \\ y_2' &= 1y_1 + 0y_2 - 3y_3 \\ y_3' &= 0y_1 + 1y_2 - 2y_3 \end{aligned}$$

$$y_0 = \begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix}$$

$y_1(0) = 2$
 $y_2(0) = 2$
 $y_3(0) = 2$

$$Y' = \begin{bmatrix} 2 & 0 & -6 \\ 1 & 0 & -3 \\ 0 & 1 & -2 \end{bmatrix} Y, \quad Y_0 \text{ initial values}$$

if given $A \rightarrow$ eigen values are $\lambda_1, \lambda_2, \lambda_3$
 eigen vectors are v_1, v_2, v_3

$$Y = C_1 e^{\lambda_1 t} v_1 + C_2 e^{\lambda_2 t} v_2 + C_3 e^{\lambda_3 t} v_3$$

find C_1, C_2, C_3 by using Y_0 initial values

S_0

$$A = \begin{bmatrix} 2 & 0 & -6 \\ 1 & 0 & -3 \\ 0 & 1 & -2 \end{bmatrix}$$

$$\rightarrow \lambda_i, v_i?$$

$$Av = \lambda v$$

$$(A - \lambda I)v = 0$$

(ii)

$$A - \lambda I = \begin{bmatrix} 2-\lambda & 0 & -6 \\ 1 & -\lambda & -3 \\ 0 & 1 & -2-\lambda \end{bmatrix}$$

Show work

$$\det(A - \lambda I) = \begin{vmatrix} 2-\lambda & 0 & -6 \\ 1 & -\lambda & -3 \\ 0 & 1 & -2-\lambda \end{vmatrix}$$

$$\begin{aligned}
 \det(A - \lambda I) &= 2 - \lambda \begin{vmatrix} -\lambda & -3 \\ 1 & 2 - \lambda \end{vmatrix} - 1 \begin{vmatrix} 0 & -6 \\ 1 & -2 - \lambda \end{vmatrix} \\
 &= (2 - \lambda) [-\lambda(2 - \lambda) + 3] - 6 \\
 &= (2 - \lambda) [\lambda^2 + 2\lambda + 3] - 6 \\
 &= (-\lambda^3 + \lambda + 6) - 6 = -\lambda^3 + \lambda \\
 &= -\lambda(\lambda^2 - 1) \\
 &= -\lambda(\lambda + 1)(\lambda - 1)
 \end{aligned}$$

Set $\circledast 0$

$$\lambda_1 = 0 \quad \lambda_2 = -1 \quad \lambda_3 = 1$$

$$A - \lambda I = \begin{bmatrix} 2 - \lambda & 0 & -6 \\ 1 & -\lambda & -3 \\ 0 & 1 & -2 - \lambda \end{bmatrix}$$

$$\lambda_1 = 0 \rightarrow N \begin{pmatrix} 2 & 0 & -6 \\ 1 & 0 & -3 \\ 0 & 1 & -2 \end{pmatrix}$$

$$v_1 = \begin{bmatrix} 3 \\ 2 \\ 1 \end{bmatrix}$$

$$x_1 = 3\alpha$$

$$x_2 = 2\alpha$$

$$x_3 = \alpha$$

$$\left[\begin{array}{ccc|c} 2 & 0 & -6 & 6 \\ 1 & 0 & -3 & 3 \\ 0 & 1 & -2 & 0 \end{array} \right] \rightarrow \left[\begin{array}{ccc|c} 1 & 0 & -3 & 0 \\ 0 & 1 & -2 & 0 \\ 0 & 0 & 0 & 6 \end{array} \right]$$

x_3 free!

$$x = \circledast \begin{bmatrix} 3 \\ 2 \\ 1 \end{bmatrix}$$

$$v_1 = \begin{bmatrix} 3 \\ 2 \\ 1 \end{bmatrix}$$

$$\lambda_2 = -1 \rightarrow N \begin{pmatrix} 3 & 0 & -6 \\ 1 & 1 & -3 \\ 0 & 1 & -1 \end{pmatrix}$$

$$v_1 = \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix}$$

$$\left[\begin{array}{ccc|c} 1 & 1 & -3 & 6 \\ 3 & 0 & -6 & 0 \\ 0 & 1 & -1 & 0 \end{array} \right] \rightarrow \left[\begin{array}{ccc|c} 1 & 1 & -3 & 6 \\ 0 & -3 & 3 & 0 \\ 0 & 1 & -1 & 0 \end{array} \right]$$

$$\rightarrow \left[\begin{array}{ccc|c} 1 & 0 & -2 & 6 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & 0 & 0 \end{array} \right]$$

x_3 free

$$x = \begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix}$$

$$= 2 \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix}$$

$$A_3 = 1 \Rightarrow N \begin{pmatrix} 1 & 0 & -6 \\ 1 & -1 & -3 \\ 0 & 1 & -3 \end{pmatrix} \quad \left[\begin{array}{ccc|c} 1 & 0 & -6 & 0 \\ 1 & -1 & -3 & 0 \\ 0 & 1 & -3 & 0 \end{array} \right]$$

$$W_3 = \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix}$$

$$\rightarrow \left[\begin{array}{ccc|c} 1 & 0 & -6 & 0 \\ 0 & 1 & -3 & 0 \\ 0 & 1 & -3 & 0 \end{array} \right] \rightarrow \left[\begin{array}{ccc|c} 1 & 0 & -6 & 0 \\ 0 & 1 & -3 & 0 \\ 0 & 0 & 0 & 0 \end{array} \right]$$

$$X = \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix} = 2 \begin{bmatrix} 3 \\ 1 \\ 1 \end{bmatrix}$$

x_3 free

$$\lambda_1 = 0$$

$$V_1 = \begin{bmatrix} 3 \\ 1 \\ 1 \end{bmatrix}$$

$$\lambda_2 = -1$$

$$V_2 = \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix}$$

$$\lambda_3 = 1$$

$$V_3 = \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix}$$

Sols $Y = C_1 e^{0t} \begin{bmatrix} 3 \\ 1 \\ 1 \end{bmatrix} + C_2 e^{-t} \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix} + C_3 e^t \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix}$

$$Y = C_1 \begin{bmatrix} 3 \\ 1 \\ 1 \end{bmatrix} + C_2 e^{-t} \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix} + C_3 e^t \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix}$$

Final Value

If you know @ $t=0$ $Y_0 = \begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix}$ you can find C_1, C_2, C_3

$$\begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix} = C_1 \begin{bmatrix} 3 \\ 1 \\ 1 \end{bmatrix} + C_2 \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix} + C_3 \begin{bmatrix} 6 \\ 3 \\ 1 \end{bmatrix}$$

$$\begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix} = \begin{bmatrix} 3 & 2 & 6 \\ 1 & 1 & 3 \\ 1 & 1 & 1 \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \\ C_3 \end{bmatrix} \rightarrow \begin{bmatrix} C_1 \\ C_2 \\ C_3 \end{bmatrix} = \begin{bmatrix} 3 & 2 & 6 \\ 1 & 1 & 3 \\ 1 & 1 & 1 \end{bmatrix}^{-1} \begin{bmatrix} 2 \\ 2 \\ 2 \end{bmatrix}$$

"odd" example?

(ex) $\lambda_1 = 3 \rightsquigarrow \left[\begin{array}{ccc|c} 0 & 1 & 2 & 6 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{array} \right] X = \begin{bmatrix} 2 \\ -2 \\ 1 \end{bmatrix}$

$\lambda_1 = 2 \quad \lambda_3 = 3$

So $N(\lambda) = 2 \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} + 10 \begin{bmatrix} 0 \\ -2 \\ 1 \end{bmatrix}$ eigen space

$\lambda_1 = 3 \quad v_1 = \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix} \quad v_2 = \begin{bmatrix} 0 \\ -2 \\ 1 \end{bmatrix}$

(ex) $\lambda_3 = -1 \quad v_3 = \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix}$

$AV = VD$

$= \begin{bmatrix} 1 & 2 & 0 \\ 0 & 1 & -2 \\ 0 & 1 & 1 \end{bmatrix} \begin{bmatrix} 3 & 0 & 6 \\ 0 & 1 & 0 \\ 0 & 0 & 3 \end{bmatrix}$

↖

$\begin{bmatrix} 6 & 1 \\ -2 & 0 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 3 & 0 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 3 & 0 \\ 0 & -3 \end{bmatrix} \begin{bmatrix} 6 & 0 \\ 0 & 1 \end{bmatrix}$